EARAROBEEIERT — 2 N— IBISH —F

20165F8H26H (£) 11HEHMH6H

m C1=Z ¥5%3mLt ‘ [R#&] B ‘ [msm]  — | & (&) 14000 B
[AE4£] 17 :400,000  ~ 23%&:9,000”  33&:48,000” 437 :32,000H . 5 7&:24,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N oo . > AiE :30. -1-1- . — FERE (BMA)
: o| %=V k-1 > 4 & 1(3_0)6 1-1-1-1 [ 39.9 1 <4+321) ;‘Ef;lai?rs
R:2FA4d—I K B:ECRLY - palltie]
Iz PN :31. —-4-3- . — RARK (BE
2 6 7Ry F— 4 5 G (13311/22) 4-4-3-2 | 40.2 7 a:g;) il
LT RIAYT v N> B g A HAT 21145
— ritEd : -0 — RARL (FEiH)
3l5l5| Framany it 4 SRS 1.(321>.5 2-2-2-3 | 40.7 4 <4+652) st
LA agR-5— B:vY— iy —F
S S B 5 | REBE 1:31.7 6-6-6-6 |40.3| — 8 444 | FEB (FEl)
4111 | ¥REZ=1N) 21— 54.0 A 1/4) 1) | HLE®
LT RIA ¥ T v BNXRMNY 21— FHI T —L
. e : TEE :31. -3-4- . - OB (k)
slal 7|1 ang - > 5 S 1(33/14)9 3-3-4-4 | 40.9 3 (4_619) LEED
R:T527 48— B:I4—F)Ov> R XA TINT7—L
. =Han : g7 _ i)
6N 3| Ny E=T>TI— AN Bt 1.(322).2 8-8-7-7 | 40.3 6 | 457 gﬁg_ (ki)
QXA aE—5— BHrAk—F— AR =r e
3 it 6 | BEHET 1:32.6 5-5-4-5 |41.3| — 2 460 | /IVR3R (FER)
7 4| * 1>avF3 54.0 ! (21/2) 0 iﬁﬂiﬁéf
A4 agFI Ry BixA2agn-7 FE 8B
.= . FHE— : ~7-8- — HEm—E (BR)
slglg| k5771 —> it 4 e 1.(353).4 6-7-8-8 | 41.7 5 (4_213; ey
x40 BT T7IF— N E%5%
® I —F—@EBIERL
13=7r= 2,5,7,6,4,(1,8),3
Aol=5r= 2,5,7,6,4,1,8,3
G§a=7r= 2,5,6,(4,7),1,3,8
43—+ — 2,6,5,7,4,1,3,8
[ RN
B OB 2 110 714K 2-6 960M B E 2-6 2,210 &R 2-5-6 3,780
8 B 2 110 2-5 290 B H 2-6 2,560 JEH 2-6-5 10,510
6 560 5-6 2,360
5 180F4

ABICOVWTRDTEEERROODE. TR LIV,




